log (*)

I*

LABJNDuO-Normhelligkeit I*

nc™ 'w

nc’ f

1* n(3,6)=146 J* ,(18)=332 I¥\,(90)=517

L* =49, I =

bereich
1Y,=18
TYw=90

aYn=3.6

LABJINDuUO
Normfarbwertdifferenz
Yoc=Yw - nc=100,

dY=Agn(A1itAzY)  Ay=0,017, A,=0,0058
Aonpes=L5, Ao a=1,0, siehe CIE 230:2019
.

P

*,=332 dY,=0,18 dY,/Y,=0,0101 .
D
1
1
1
1v,=18
Y=90

bereich

Ya23.6
log AY/Y)

LABJINDUO o
S=(aYY) Normfarbwertemfindlichkeit

Yoc=Yw - nc=100,

%1 ABaNDuO=[IN[A 1n+A2YV)I(A 20A )] (Yn/100<Y<=Y,c)
AYIY=AG A1 +AZYYY

log(dY/Y)E-1,99 m,=-0,1.
-- SR
I* =332 dY,=0,18 dY,/Y,=0,01011 b

1y,=18
Yw=90

Sw_endungs-
reich

Yn=3.6
log (Y/AY) LABJINDuO

Normfarbwertkontrast
C=(Y/AY) YAy

=100

* LagaNDu0 =[IN[(A 17+A2aY)I(A 20A0n)] (Yad/ 100<Y<=Y, )
YIAY=Y/[A on(A1n+A2nY)]

Anwendungs-
bereich

T S L TS
YN=3.6 1 Yw=20

1*1 AgaNDu0 =[IN[A 1n+A2nV)I/(A 20A )] (Yn/100<Y<=Y,c)

Anwendungs-]

%1 ABaNDu0=[IN[A 10+ A2 YV)I(A 20A )] (Yn/100<Y<=Yyo)

Anwendungs-

log (*/* ) LABJINDuUO relative Normhelligkeit I*/I*
I Yoc=Yw =

nc’ s

%L agaNDuo =[IN[A 17+A2nY)V/(A 20A0n)] (Yd/100<Y<=Y,()
1\ (3,6)=146* ,(18)=332.* (90)=517

log[i* /I* ]=0, m,=0,33

Anwendungs-|
bereich

TmE86
CGCO00-2A
log(AY/AY,)

AY/AY,

Yy=90

LABJNDUO relative
Normfarbwertdifferenz
Yoc=Yw 100,

%L agaNDuo =[IN[A 17+A2nV)V(A 20A0R)] (Ynd/100<Y<=Y,()
AYIY,=AgifA 1 +AgYIdY,

nc—

o
4
* =332 dY,=0,18 dY,/Y,=0,0101 %

-

log [AYY) I (AYIY),]

LABJNDUO relative
S/Su=AYMIAYY),

Normfarbwertempfindlichkeit
Yoc=Yw - nc=100,

1* L ABINDUO=[IN[(A 10+ A2RY)I(A 20A0n)] (Yd/100<Y<=Yc)
(AYIYYAYIY=(AgtAs Y)Y (AYIY),]

log[(dY/Y)(dY/Y),]=0, m,=-0,13 ;

I*,=332, dY,=0,18 dY,/Y,=0,0101 |

Anwendungs-|
bereich

1y,=18
Y=90

YN=3.6

log [(Y/AY) I (YIAY),] LABJINDUO relativer
Normfarbwertkontrast
CrlCry=(YIAV)(YIAY)y vty ™ 2300,

L agaNDuo =[IN[A 10+A2nY)V(A 20A0n)] (Yd/100<Y<=Y,0)
(YVIAYY(YIAY), =Y IYIAY )T oA g Agr V) (Y/AY),

1 Anwendungs-
1 bereich

1y,=18
Yw=90

YN=3.6



